FINANCIAL MATHS MEMORANDUM

QUESTION 6/VRAAG 6

6.1 A=P(l+0)"
&
|3459:|2mﬂ[|+i] v 8
400 v" subst into correct
m formula
1+ —) =1121...
400
i
200 = V21 v1+-2 —gfl121.,
400
2 _0.0144...
400
Som=5T8% v 5,78 %
4
6.2 e xl{l +¢_')" -1
i
; 0,075
0,075 =
1 000 [1+—\l -1 12
. 12 ) v 12
N 0,075
12
=R12 421,22 ¥ answer
He won't be able to buy the computer because ¥ conclusion
RI13000-R12421,22=R578,78 (4)
OR/OF
He won't be able to buy the computer because
B12421.22<RI13000
60.3.1 Loan amount = 85% = R250 000
=R212 500 ¥ answer (1)
OR/OF OR/OF
Loan amount = BR250 000 — (15% = B250 000)
=R212 500 ¥ answer (1)
6.3.2 i 3
A:2125ﬂﬂ[l+w] /ﬁZEIESN{1+E]
12 12
A =224 262,53 v answer
b fi-(1+0)
;
_r[l -[1+—ﬂi ,'33}"” ]J . o
9 h &1 < . substitution into
224 262,53 0.13 correct formula
12 v -67
- x=R4724,96 v answer 5)
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QUESTION 7

7.1 A=P(l+i)"
dr v 2 In
2= 1([ + WJ 0.085 correct
4 v formula
4
4":]”‘5;[ 0,085) v use of logs
\ 4 )
n==824 years ¥ answer in years
(4)
7.2.1 A=P(1-i)"
v <uhe i )
180 000 =500 000(1 - i) subs into correct
0 formula
= (1-iY
5 (1-1)
9 v" simplification
5 =1-i
25 ’y
i = 0,1848068... i=0,1848...
r=18.48% v’ answer
(4)
7.2.2 A=P(+i)"
5 v subs into correct
A =500 000(1 +0,063) ‘
formula
Jf& = Rﬁ?g 535..] ] v answer
(2)
723 Sinking Fund = 678 635,11 — 180 000
=R 498 635.11 v" value of sinking fund
01025 0,1025Y’ s 01025
1+ T =11+ T 12
498 635,11 = v =58 (A)
01025 3
_ 01025
12 v 1+ T
x=R6510.36 -
* ¥ answer (A)
(5)
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Mathematics P/ Wiskinde V! 10 DBE/Movember 2021

NSCNSS — Marking Guidelines! Nasienriglne

QUESTION/VRAAG 8

#.1 A= P{l —if ¥ correct formula
A =980 000(1-0,092)" v substitution
A =R498 685,82 « answer (A (3)
8.2 A=Fl1+)
0068
v o
116 253,50 = Tﬁﬂﬂ({l ﬂﬂﬁa] 4
" substitution in
correct formula
L5350 046 667 = |[l ﬂlT:l
log(1.550 046 667) = dnlog(L,017)
4n = 108006 66T) ) _ 1og . (1,550 046 667) | ¥ correct use of logs
log(1,017) -
dn=2599
n= 6,50 years ¥ answer 4
8.3.1 wf(1+i) -1
F —3 . -
; Sis 00835
12
0,0835%"
:rl+lz/|—l / substitution i
substitution into
450 000 = 0.0835 correct formula
12
x = R6 068,69 ¥ answer (3)
2.3.Ma) =it
1.n:.vrl III_ i)
! ) ¥ in =48 in P-formula
]2 " 4] 2
11 058,85]1— [I —J o
12 ¥ substitution into
P= D12 correct formula
12 v answer (A)
P=R419 948,32 3
OR/OF OR/OF
Balance = A —F
- p(1+ },_I{l+!.} -1
i
5y ¥ =252 in both
. 11058.85 [ J formulae
=1 050 l]ﬂl:l'(l w “I-I—
[ N 12 0.1 ¥ subst into correct
T formulae
=R12 887 702,20 -R12 467 749.81
=R419 952,39 ¥ answer (A) (3)
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8.3.2(b)

Total paid =11 058,85x21x 12 =2 786 830,20
Loan Paid = 1 050 000 —419 948,32 = 630 051,68

Interest paid = 2 786 830,20 - 630 051.68
=R2 156 778,52

OR/OF

Total paid =11 058,85x21x12 =2 786 §30,20
Loan Paid = 1 050 000 —419 952,39 = 630047,61

Interest paid = 2 786 830,20 - 630 047,61
=R2 156 782,59

OR/OF

Interest paid

=11 058,85 = 21 = 12 - (1 050 000 - 419 948,32)
=2 786 83020 - 630 051,68

=R2 156 778,52

v 11 058,85x21x12
« 1 050 000 - Balance
Outstanding
¥ answer
(3)
OR/OF

v 11 05885=x21=12
¢ 1 050 000 — Balance

Outstanding
« answer

(3)
OR/OF

¢ 1105885=21=«12

« 1 050 000 - Balance
Outstanding

¥ answer (3
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QUESTION/VRAAG T

7.1
13 080 =10 {]{]E][H

(I i]lh_lBt}E{}
C 4 10000

i [13080
1+-=tj————-
4 V10000

c 16
L
3

¥'substitution into correct

formula
=16

v simplification

i =0,0169227...
i=0,06769...
i=6.77% vanswer (A)
(4)
7.2.1 F:x{lﬂ_']l"—l
i
il
9000 [L+9£E§l -1 v 0075
j" 12 ) 12
M ¥ substitution into correct
12 Formula
F=Ra52 743,95 Y
answer
(3)
722 60 = 9000 = B.540 000 v 60 9000 = R340 000
A= P(1+i)"
652743 9‘;[{1+ﬂ'ﬂ?5 \ =190 214,14 + 540000 .
I R j T ¥'¥ equation
0,075%"
730 214,14 = 652 T4l5‘5(1+ - J
1,1186....= (1,00625)" Y simplification
n=log, g: (1.1186) Yuse of logs
-~ n=18 months ¥" 18 months (6)
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OR/OF OR/OF

Interest over 5 years = 652 743,95 -9 000 = 60 | » 0 .« 9 pop
=11274395

" interest on years

=190214,14 - 112743,95=77470,19 | , .

& q -,lll &
652 743,95 + 77 470,19 = 652743,95| 1+ % ; ¥ equating
b 4

11186....=(1,00625)" ¥ simplification
n=log ... (11186) v use of logs
s.n=18 months ¥ 18 months

(6)
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